Homework (Le 2)





Problem P1 (taken from Vector Mechanics for Engineers by Beer and Johnson)





The coefficients of friction between blocks A and C and the horizontal surfaces are ms = 0.24 and mk = 0.20.  Knowing that mA = 5 kg, mB=10 kg and mC=10 kg, determine 


the tension in the cord,


�����������������������the acceleration of each block. 















































Problem P2 (taken from Vector Mechanics for Engineers by Beer and Johnson)





�A 15-lb block B rests as shown on the upper surface of a 25-lb wedge A.  Neglecting friction, determine immediately after the system is released from rest


���the acceleration of block A,


�the acceleration of  B relative to A.
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Ans:  


T=33.6 N


aA=4.76 m/s2 ®


	aB=3.08 m/s2 ¯


	aC=1.40 m/s2 ¬
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25 lb





30°





Ans:


aA=22.4 ft/s2 





aB/A=19.40 ft/s2 





30°











